1455

1

1619

) 2
=
o i
i
L S
o
= a
(a4 S
O
—
< =
(a W =
- N
oc Je |
= } L
E<) 1’,40/]', 346 % 449 /||/40/"/
N L 260 %0 |/ 537 | ’
N 1 151 1
<L B — |
I_ S é/ 2 T o
Z L g 15
+ 60,00 o
° 15 -2
E 90 § pom. gosp. Pomieszczenie 2 ol E
Z 1H|s 16.47m 2146 m: 24 i 5
= T B
| + 60,00
E
2]
— — —f— N / / —
+ 60,00
386 /||, 461 0
8l 12.Garaz 27,12 m*
3| 2 - /||/ wys.273m " 26
2
887 \
## A + 60,00 + 60,00 . 1
3| gle 150 -2 § 150
C- e o nesne i
~+ Y
L—
9 3l f'( g
: ) V. 7
¥/
/ —1 9.Sala konfer 55,68 m*  * 60,00 9 /
_*# 1 wys.2,73m
8 2/
150 I
ae 140 E ZE
L 8 2503 ’/
4+ : 1
| 840 3
5 L / L
8 N 1 = = == === 1
%% L40|, 425 J,L 151 |, 102 |, 15_/ 475 % 485 185 |, I,ze 466 |,40’,
™ (i T 1 s < [ i 1
ale 269 |, ) |, 481 150 8 504 |, 120 |, 8 '3 |, 130 |, msl, % |, 3%
2= 175 140 g 1T 20 T 1 200
g 593 S
T > 2
[2\s 2 |3
— N o
= 7 — == ‘
i /|8 T\ <0 + 60,00 %
4% 8 & = 60,0
wlo 8 -ﬁ 2 WE \% 8 stp.
oflw 45 E" ° | 1| 15 50/28
jﬁ y— g 80 ) ZZa % f 13Kotlownia 21,52 m
g 0 WC-NS 4,80 m? wys.394m o |4
g 3l & —ﬁ g & “vK"CshST 22,28 m* [J5 Korytarz 12,60 =2 o % 110
< 45 # g wys.304m wys. 335 m 6000 | < q 8 90
u v“_ £ 00,00 <
jﬁ g + 60,00 g 83\ V z VA
o 85 'H- 8 vl_ RO 4 179 Z. 8.K1. schod.7.81m
8[Q 5 J J_ g : sq:
_j# é 7.Pom. gosp. abaar [ 7 ¢
+ |+ == 7 7 55
Wys. par. 80.00 2 I
24Pom. 1207 m? 20om. 307m]
s K4
16.Pom. poczy 24,26 m? g 110
g 90
9.Pom. 3,64 m* é 5.5
353 +60,00 +0,00
23.Pom. 9,50 m? " V V&
o o 3.Pok] 50,47 m* 2.Garaz 4542 m* 1.Garaz 49,23 m*
= = 18.Pom. 201 m? wys. 341 m wys. 3,94 m wys. 3.94m
b1.Pom. 1050
s A
] 110
17pom328m o o § %0
2[5 BN
— 15.Pom.poczty 13,09 m?
22.Pom. 999 m*
]
i 100
210
Wys. par. 145.00 14.Wiatrotap 2,82} Z‘ Wys. par. 145.00 Wys. par. 145.00 ‘ ‘
== | L —— y = \ \
/y 7907 Y ok By
% é 5/228.5
/ / /# /{% 2w o | 119 375 142 330 75 Lao
K 150 ’l 210 Y/, 277, 77/ 72/ ’l 150 ’l 368 368
| VIS IS ALY pIII IS
40 270 143 LS LA A 490 lod, 441 Lol 518 |
(I (K 1 1
L 2553 LWL
i (N
/‘L 2503 /‘L
Leol 787 bd, .
(I m
| 887 L
1 1
<] m

Q=
=N
S~ un
=T
= 2 ©
Q = S
N .9'§5é& £
@ S22 = =
28|53 =
X =
S |3
S ]
2
N 8
i
8|2
£ 3|5
= > | 2
Q | 2 B
n E 5|5
l()“'
~ -
1
o 9
Qo X
S »
o =
B ]
> 2 2|2 |x
> N| & < | S| N
NUQ mﬁmg
O N| 3 o 8O | ©
nl = S oLl 8
2 g 2l o=
| s QS| © | —
© s I NIE|Y
ol g g ESs|D
o =] =]
¥ _-| §lo S 2
—| = (=T R
E =] S| sls|<<
—_ 2D N ol N2 -
) I =]
N O g|x/X5 |3
ngq:ﬂ‘i—"g_
g || ~5le|c
2 1l fEl2 g5l
8| = o
<§ﬂ-(DO\EES
m ©
= )] .
X ™ & s |E |2
1 o ==
P I I [>R =T
Nﬁzmgéﬁg
oO| z|=Z|s2|2|2
| s |l |=|a| o
Dgﬁgﬁ
8
o
g
qd 3
3
8|
O
Aﬁ

441

Loe ]
T 1

1030

1619




